Case 24-11161-BLS Doc 795 Filed 06/23/25 Page 1 of 2 Docket #0795 Date Filed: 06/23/2025

IN THE UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

In re:

Chapter 11

SAGA FORMATIONS, INC., et al., 1

Case No. 24-11161 (BLS)

Debtors.

(Jointly Administered)

SUPPLEMENT TO THIRD INTEIRM FEE APPLICATION OF JENNER & BLOCK LLP

Jenner & Block LLP ("Jenner"), co-counsel to Claudia Springer, not individually, but as the chapter 11 trustee (the "Trustee") of the estates of Saga Formations, Inc. f/k/a Epic! Creations, Inc; Tangible Play, Inc.; and Pajeau, Inc. f/k/a Neuron Fuel, Inc. (collectively, the "Debtors") in the above-captioned chapter 11 cases (the "Chapter 11 Cases"), hereby supplements the Third Interim Fee Applications Of The Trustee's Professionals For The Period March 1, 2025 Through and Including May 31, 2025 [D.I. 791] (the "Third Interim Application") for the period from March 1, 2025 through and including May 31, 2025 (the "Application Period") by attaching, as Exhibits A through F hereto, certain schedules requested by the Appendix B Guidelines For Reviewing Applications For Compensation And Reimbursement Of Expenses Filed Under United States Code By Attorneys In Larger Chapter 11 Cases (the "UST Guidelines"). In addition, Jenner respectfully states as follows to address the questions set forth under section C.5 of the UST Guidelines:

(a) During the Application Period, Jenner did not agree to any variations from, or alternatives to, its standard customary billing rates, fees, or terms.

¹ The Debtors in these Chapter 11 Cases, along with the last four digits of each Debtor's federal tax identification number, are: Saga Formations, Inc. (9113); Pajeau, Inc., and Tangible Play, Inc. (9331).



- (b) The fees sought by Jenner in the Third Interim Application are not more than 10% higher than the fees budgeted in the budget provided by Jenner to the Trustee for the Application Period.
- (c) The professionals included in the Third Interim Application did not vary their hourly rate based on the geographic location of the Chapter 11 Cases.
- (d) The Third Interim Application did not include any fees dedicated to revising time records or preparing and revising invoices that would not normally be compensable outside of bankruptcy.
- (e) The time period covered by the Third Interim Application includes approximately 0.00 hours with a value of \$0.00 spent by Jenner to ensure that the time entries subject to the Third Interim Application comply with the Local Rules of Bankruptcy Practice and Procedure of the United States Bankruptcy Court for the District of Delaware and do not disclose privileged or confidential information. This review and any revisions associated therewith are a necessary component of Jenner's preparation of each monthly fee application.
- (f) The Third Interim Application includes rate increases effective as of January 1, 2025, as provided in the *Notice of Change in Hourly Rates of Jenner & Block LLP* [Dkt. 402].

Respectfully Submitted, June 23, 2025 JENNER & BLOCK LLP

/s/ Catherine Steege

Catherine Steege (admitted pro hac vice)
Melissa Root (admitted pro hac vice)
William A. Williams (admitted pro hac vice)
353 N. Clark Street
Chicago, Illinois 60654
Telephone: (312) 923-2952
csteege@jenner.com
mroot@jenner.com
wwilliams@jenner.com

Counsel to the Trustee

EXHIBIT A

CUSTOMARY AND COMPARABLE COMPENSATION DISCLOSURES

Jenner's hourly rates for bankruptcy services are comparable to the hourly rates charged in complex chapter 11 cases by similarly skilled bankruptcy attorneys. In addition, Jenner's hourly rates for bankruptcy services are comparable to the rates charged by the Firm for other complex corporate and litigation matters in the U.S. The rates charged by the Firm for the services performed in the prior calendar year in the practice areas that are comparable to the services performed by the Restructuring & Bankruptcy practice group are set forth below.

| Category of Timekeeper (using | Blended Hourly Rates | |
|--|----------------------------|--------------------|
| categories already maintained by the | Worked and Billed | Billed |
| Firm) | During Preceding 12 | This Application |
| | Months (excluding | (billing travel at |
| | Restructuring lawyers) | 50%) |
| | | |
| Partner | \$1,249.00 | \$1,821.66 |
| Special Counsel | \$1,010.00 | \$1,526.58 |
| Associate | \$888.00 | \$1,135.94 |
| Paraprofessional | \$420.00 | \$594.63 |
| Blended Rate for All Attorneys in this Fee Application | | \$1,467.05 |
| Blended Rate for All Timekeepers in this Fee Application | | \$1,451.21 |

EXHIBIT B

SUMMARY OF TIMEKEEPERS INCLUDED IN THE THIRD INTERIM APPLICATION

| Name of Professional | Position of the Applicant, Area of Expertise, Number of Years in that Position, Year of Obtaining License to Practice | Hourly Billing Rate | Total Billed Hours | Total Compensation |
|----------------------|--|---------------------------|--------------------------|-----------------------|
| Catherine Steege | Partner /Bankruptcy. Partner since 1990. Joined the firm as an associate in 1982. Admitted to IL bar in 1982 | \$2,345 | 301.7 | \$707,486.50 |
| Shoba Pillay | Partner/Investigations. Joined the firm as a partner in 2021. Admitted to MA bar in 2004. Admitted to the IL bar in 2008. | \$1,910 | 92.3 | \$176,293.00 |
| Matthew Renaud | Partner/Employee Benefits. Joined the firm as an associate in 1992. Admitted to the IL bar in 1992. | \$1,785 | 18.2 | \$32,487.00 |
| David Kroeger | Partner/ Insurance Coverage. Partner since 1998. Joined the firm as an associate in 1994. Admitted to NY bar in 1992. Admitted to IL bar in 1994. | \$1,740 | 0.6 | \$1,044.00 |
| Gail Morse | Partner/Tax. Joined the firm as a partner in 1997. Admitted to CA bar in 1982. Admitted to DC bar in 1985. Admitted to CO bar in 1994. Admitted to IL bar in 1995. | \$1,730 | 13.6 | \$23,528.00 |
| Peter Rosenbaum | Partner/Corporate. Partner since 2013. Joined the firm as an associate in 2005. Admitted to the IL bar in 2005. | \$1,730 | 395.7 | \$684,561.00 |
| Edward Prokop | Partner/Corporate. Partner since 2017. Joined the firm as an associate in 2014. Admitted to New York bar in 2010. | \$1,680 | 129.6 | \$217,728.00 |
| Steven Englund | Partner/Content, Media, and Entertainment. Joined the firm as a partner in 2007. Admitted to the DC bar in 1990, the MN bar in 1990, and the VA bar in 2001. | \$1,670 | 2.0 | \$3,340.00 |
| Emma Sullivan | Partner/Litigation. Joined the firm as an associate in 1999. Admitted to the IL bar in 1999. | \$1,620 | 12.5 | \$20,250.00 |

| Madeleine Findley | Partner/Communications, Internet and Technology. Joined the firm as Partner in 2021. Admitted to the D.C. Bar in 2008. Admitted to the MN Bar in 2019. | \$1,620 | 4.2 | \$6,804.00 |
|----------------------|--|---------|-------|--------------|
| Christopher Abbot | Partner/Corporate. Joined the firm as an partner in 2022. Admitted to the MA bar in 2012, DC bar in 2013, and NY bar in 2015. | \$1,620 | 2.5 | \$4,050.00 |
| Alexis Early | Partner/Litigation. Joined the firm as an partner in 2024. Admitted to the NY bar in 2012 and the DC bar in 2013. | \$1,620 | 20.3 | \$32,886.00 |
| Sheila Kailus | Partner/Real Estate. Joined the firm as special counsel in 2018. Admitted to the IL bar in 1997. | \$1,610 | 0.8 | \$1,288.00 |
| Melissa Root | Partner/Bankruptcy. Partner since 2011. Joined the firm as an associate in 2005. Admitted to IL Bar in 2006. Admitted to IN Bar in 2003. | \$1,575 | 369.7 | \$582,277.50 |
| Anna Meresidis | Partner/Corporate. Partner since 2018. Joined the firm as a Special Counsel in 2017. Admitted to IL Bar in 2008. Admitted to NY Bar in 2004. | \$1,620 | 48.7 | \$78,894.00 |
| Jenna Bressel | Special Counsel/Employee Benefits. Joined the firm as a Special Counsel in 2025. Admitted to the IL bar in 2017. | \$1,540 | 45.3 | \$69,762.00 |
| Sharon Moraes | Special Counsel. Special Counsel since 2025. Joined the firm as an associate in 2017. Admitted to IL Bar in 2017. | \$1,540 | 544.8 | \$838,992.00 |
| Laura Pelanek | Special Counsel. Joined the firm as an associate in 2004. Admitted to IL Bar in 2004. | \$1,475 | 153.6 | \$226,560.00 |
| Joshua Davids | Associate/Corporate. Joined the firm as an associate in 2018. Admitted to IL Bar in 2018. | \$1,475 | 183.2 | \$270,220.00 |
| Katherine Funderburg | Associate. Joined the firm as an associate in 2018. Admitted to IL Bar in 2018. | \$1,475 | 2.5 | \$3,687.50 |
| William Williams | Associate/Bankruptcy. Joined firm as an associate in 2018. Admitted to IL Bar in 2015. | \$1,400 | 187.7 | \$262,780.00 |

| Hannah E. Schwab | Associate/Corporate. Joined the firm as an associate in 2021. Admitted to the IL bar in 2021. | \$1,360 | 17.2 | \$23,392.00 |
|--------------------|--|---------|-------|--------------|
| Ashutosh Ray | Associate/Litigation. Joined the firm as an associate in 2024. Admitted to practice law in the UK in 2017. | \$1,175 | 0.5 | \$ 587.50 |
| Aleksandra Ryshina | Associate/Bankruptcy. Joined firm as an associate in 2022. Admitted to IL Bar in 2022. | \$1,175 | 392.4 | \$461,070.00 |
| Brian Bornhoft | Associate/Bankruptcy. Joined firm as an associate in 2022. Admitted to IL Bar in 2022. | \$1,075 | 250.8 | \$269,610.00 |
| Alexander Bradt | Associate/Corporate. Joined the firm as an associate in 2023. Admitted to the Illinois bar in 2023. | \$1,065 | 71.2 | \$75,828.00 |
| Judy Kim | Associate/Corporate. Joined the firm as an associate in 2024. Admitted to the Illinois bar in 2024. | \$930 | 20.0 | \$18,600.00 |
| BJ Franovic | Associate. Joined the firm as an associate in 2024. Admitted to IL Bar in 2024. | \$930 | 266.5 | \$247,845.00 |
| Rachel Magaziner | Associate. Joined the firm as an associate in 2024. Admitted to IL Bar in 2024. | \$930 | 254.4 | \$236,592.00 |
| Micah Horan | Paraprofessional. | \$690 | 46.7 | \$32,223.00 |
| Fallon McDowell | Paraprofessional. | \$585 | 1.5 | \$ 877.50 |
| James Walsh | Research Librarian. | \$475 | 0.3 | \$ 142.50 |
| Mary Ruddy | Research Librarian | \$475 | 3.5 | \$1,662.50 |
| Paul Ramonas | Research Librarian. | \$475 | 0.8 | \$380.00 |
| Stephen Mellin | Research Librarian. | \$475 | 0.3 | \$142.50 |
| Tricia Peavler | Research Librarian. | \$475 | 0.1 | \$47.50 |

Case 24-11161-BLS Doc 795-2 Filed 06/23/25 Page 4 of 4

| Carole Duran | Research Librarian. | \$370 | 17.1 | \$6,327.00 |
|-----------------------------------|---------------------|-------|----------|----------------|
| | | | | |
| Total | | | 3,872.80 | \$5,620,245.50 |
| BLENDED RATE: \$1,451.21 | | | | |
| ATTORNEY BLENDED RATE: \$1,467.05 | | | | |

EXHIBIT C

BUDGET AND STAFFING PLAN

| BUDGET | | | |
|--------------------------------|------------------------|-----------------------|--|
| Project Category | Estimated Hours | Estimated Fees | |
| Claims | 25 | \$35,000 | |
| Executory Contracts | 100 | \$140,000 | |
| Sale of Assets | 2,300 | \$3,220,000 | |
| DIP Lending and Secured Claims | 50 | \$70,000 | |
| Investigations | 1,250 | \$1,750,000 | |
| Case Administration | 100 | \$140,000 | |
| Non-Productive Travel | 25 | \$35,000 | |
| Plan of Reorganization | 100 | \$140,000 | |
| Retention and Fee Petitions | 50 | \$70,000 | |
| Litigation to Secure Assets | 100 | \$140,000 | |
| TOTAL | 4,100 | \$5,740,000 | |

| STAFFING PLAN | | | |
|---|--|---------------------------|--|
| Category of Timekeeper | Number of timekeepers expected to work on the matter during the budgeted time period | Average Rate ¹ | |
| Partner | 15 | \$1,950.00 | |
| Special Counsel | 3 | \$1,500.00 | |
| Associate (7 or more years since first admission) | 5 | \$1,500.00 | |
| Associate (4-6 years since first admission) | 5 | \$1,350.00 | |
| Associate (less than 4 years since first admission) | 5 | \$1,100.00 | |
| Paralegal | 3 | \$650.00 | |

¹ The Average Hourly Rate is a weighted average based on the individual hourly rate of, and projected number of hours worked by, each timekeeper over the course of the Budgeted Period.

EXHIBIT D

SUMMARY OF COMPENSATION

| SUMMARY OF COMPENSATION BY PROJECT CATEGORY | | | |
|---|---------------------|----------------|--|
| Project Category | Hours Billed | Fees Sought | |
| Investigations | 1,243.7 | \$1,512,249.00 | |
| Sale of Assets | 2,274.4 | \$3,541,830.00 | |
| Litigation to Secure Assets | 82.7 | \$141,964.00 | |
| Executory Contracts | 82.5 | \$116,167.00 | |
| Case Administration | 66.1 | \$100,189.50 | |
| DIP Lending and Secured | 57.3 | \$101,499.00 | |
| Claims | | | |
| Retention and Fee Petitions | 25.5 | \$39,702.50 | |
| Plan of Reorganization | 17.1 | \$27,741.50 | |
| Non-Productive Travel | 14.5 | \$28,612.50 | |
| Time (billed at 50%) | | | |
| Claims | 9.0 | \$10,290.50 | |
| TOTAL | 3,872.8 | \$5,620,245.50 | |

EXHIBIT E

EXPENSES

| EXPENSE | AMOUNT |
|--|---------------|
| Alix Partners LLP (document management vendor) | \$ 281,481.24 |
| Lien Search Fees | \$ 63,723.89 |
| Deposition Transcripts | \$ 21,309.67 |
| Travel | \$ 17,378.29 |
| Transcripts - Deposition | \$ 15,213.76 |
| Copies | \$ 6,764.44 |
| Court Fees | \$ 1,509.55 |
| Service of Process/Subpoena Fee | \$ 866.80 |
| Express Delivery | \$ 723.95 |
| SOS/Registered Agent Fees | \$ 665.25 |
| Trademark Registration Fees | \$ 430.00 |
| Westlaw/Lexis Research | \$ 384.68 |
| Messenger Service | \$ 313.89 |
| Database Research | \$ 217.13 |
| Transportation | \$ 141.78 |
| Pacer Charges | \$ 138.50 |
| Transunion Fees | \$ 33.13 |
| TOTAL | \$ 411,295.95 |

EXHIBIT F

| SUMMARY OF THIRD INTERIM APPLICATION | | |
|---|---|--|
| Name of Applicant: | Jenner & Block LLP | |
| Name of Client: | Claudia Springer, not individually, but as Chapter 11 Trustee | |
| Time period covered by the Second Interim Application: | March 1, 2025, through and including May 31, 2025 | |
| Total compensation sought during the Application Period: | \$5,620,245.50 | |
| Total expenses sought during the Application Period: | \$411,295.95 | |
| Petition Date: | June 4-5, 2024 | |
| Retention Date: | Nunc pro tunc to September 23, 2024 | |
| Date of order approving employment: | October 28, 2024 | |
| Total compensation approved by interim order to date: | \$4,061,260.00 | |
| Total expenses approved by interim order to date: | \$316,517.20 | |
| Total allowed compensation paid to date (at the time of filing this Third Interim Application): | \$8,557,456.40 | |
| Blended rate in the Third Interim Application for all attorneys: | \$1,467.05 | |
| Blended rate in the Third Interim Application for all timekeepers: | \$1,451.21 | |
| Compensation sought in the Third Interim Application already paid (or to be paid) pursuant to a monthly compensation order but not yet allowed: | \$1,124,049.10 | |
| Expenses sought in the Third Interim Application already paid (or to be paid) pursuant to a monthly compensation order but not yet allowed: | \$0.00 | |
| Number of professionals included in the Third Interim Application: | 37 | |
| If applicable, number of professionals in the Third Interim Application not included in staffing plan approved by client: | N/A | |
| If applicable, difference between fees budgeted and compensation sought during the Application Period | (\$119,754.50) | |
| Number of professionals billing fewer than 15 hours during the Application Period: | 15 | |
| Are any rates higher than those approved or disclosed at retention? | Yes, rate increases were noticed in the <i>Notice of Change in Hourly Rates of Jenner & Block LLP</i> [Dkt. 402]. | |